Sub.Code :3031
GRADE XI

Economics
Model questions

foramdTer Fhav TR 9TeTHT IR fag | It (AT fGgUesl dgehed qUilgs 1S |
Candidates are required to give their answers in their own words as far as practicable. The figures in the
margin indicate full marks.

Time : 3 Hrs. Full Marks: 75

e % (Group A)

afq it Saaes Teee (Very Short Answer Questions)
I yeeEH S fee (Attempt All Questions.) (11x1=11)

1.

10.

11.

AqTF T D & 2 7

What is an economic good?

Fig AR weaq : Qg = 150 +10P 7 qfq wer: Qs = 300 — 20P g a=ifda Her il IS 4 |
If demand function is: Qq= 150 +10P and supply function is:Qs = 300 — 20P, find the
equilibrium price.

What is the closed economy?

SIART AT FEE ITOAT Ty ?

How is the disposable income calculated?

What is the economic development?

TATCAT STITAFT FA F5 [T AT |

Write any two features of Nepalese Economy.

F AT @IS TEIETH F g5 ITANT T TR |

Mention any two uses of mineral resources in the agriculture sector.

Write any two applications of internet.

HLATEHT TAHT FH 5 TAN AT |

Write any two uses of Mathematics in Economics.

3x? & feRferae o =T FRTSTE |

Find the differential coefficient of 3x2.

T2 fagewA(2, 3) T B(5, 7) are s faar vare! wewrd qd as ey |

Find the slope of the straight line passing through the points A(2, 3) and B(5, 7).
¥ @ (Group B)
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it Saves weew (Short Answer Questions)

I yeeEa S} fee | (Attempt All Questions) (8 x 5 =40)
12, WATSAHr ATMER! TRATHT 2T THE |

Explain the Marshallian definition of economics.

gaar (Or),

qH THE F & 7 AGH [ares AT el |

What is labour? Explain its features. (1+4=5)
13. wTTH o =ret Te |

Explain the law of demand.
14, [eSUal AfAHTH ATIRHT TART TeAEER IR (G e d |
Answer the following questions based on the given table. (2.5+2.5=5)
T®/F <) [Price(Rs./Kg.)] |5 10 15
qfer afewror (@ i) 1 2 3
[Quantity supplied (Kg.)]
®. AR HA T Y AT Ffg A F QY BaT IR A qAl SR, |

Find the elasticity of supply when the price of a commodity increases from Rs.5 to

Rs. 15.
g I T T QY 91E g B, 90 EaT Uil |rd 9l RSl |

Find the elasticity of supply when price of a commodity decreases from Rs. 15 to Rs.

10.
15. fesuel arfdere! ATRHAT TAHT TeAaEd I [aderd |
Answer the following questions based on the given table:  (2+1.5+1.5=5)
SIAFNT TRTHT TEIHT THS &l FHATTAT S gwafar (Marginal
(Unit of commodity (Total utility) utility)
consumed)

12
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Complete the given table.

g I TRUS qAREE B T A JTANTAT <@l o T Tl |
Draw the total and marginal utility curves from the completed table.

T A T AT ITARTAT ashe@Tier=e] q¥=d S@Tsard |
Show the relationship between total and marginal utility curves.

16. ¥ FHEE Iooi@ TR |
Mention the functions of money.

17. F9rer nf¥er faraer! GiEarHT qfeg I FRUEEH d@rsiral THar |
Evaluate the causes of Nepalese economy lagging behind in the process of economic
development.

18. <Toram qRRacHel TUTeAh! AITAHT T THEEw ATl T |
Explain the effects of climate change in the economy of Nepal.

19. fag A (-5, 10) aTc IRET T9T T3 HLTHT SRTER GUS TATSH [T TGPl THIHIT TAT TSR |
Find the equation of straight line which passes through the point A (-5, 10) and
makes equal intercepts on both axes.

gaar (Or),
Atz &Y e aEEn fazuar e wed ;- Q = 4L + 3L% + 713 5 s qe yvees
TR |
If the production function is given by : Q = 4L + 3L* + 7L°, then solve the following
questions):

®. G IR HeAd Ol A3 TRl |
Find marginal production function.

g A Y THTS Farhl AT e Il TSed |

Find the marginal product when unit of labour is 5.

g T (Group C)
| Saeas Teew (Long Answer Questions)

¥ yeveEe 9o} fae | (Attempt All Questions) (3 X 8 = 24)

20.

[TgUeRT ATAHTH ATIRHT TART TIAEEH I [Gqerd |
Answer the following questions based on the given table:

ST IAIATHT | STHET UHE | el IATEA EIEK] draT 3aTed
(Land in (Unit of &SI HT JaTah, ST HT & ST HT
Ropanies) Labour) (Total (Average (Marginal
product in product in product in
Kg.) Kg.) Kg.)
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15 0 - - -
15 1 10
15 2 30
15 3 60
15 4 80
15 5 90
15 6 90
15 7 80
15 8 60

F Ed ¥ AT ST VAT T qTeART TR THER |
Complete the table by computing the average product and marginal product.

g IAEAH dMael TRUEEATS @IAAT d@Ts AT THaE |
Show the three stages of production in a diagram and explain.

21, WUt STET farEE IEEAT ARG ATH AT M (B HEATS g | @ TR |
Why measurement of national income is more difficult in developing countries like
Nepal? Explain.

22. FITAHT HIRT ATGIABIHI T ATAITHIIHT TUH TATHEE R @@l e |

Evaluate the efforts made for the modernization and commercialization of agriculture
in Nepal.
ggar (Or),
TRl ot faehTareT  SRIRTE Srer safeRt e TR |
Examine the role of industrial sector in the economic development of Nepal.
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